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(11)
Cambent-Beer DEAI & 0, B IT AR (1 cm) (IZEHIT 5.
A =logg1 = —log,,T = —10g1,0.90 = 0.0458
[=2 cm ORFFIX 0.0916 £ > TEHEE  81.0 %
[=2 cm DFFIX 0.2290 £ > TEEE  59.0 %

(12]

1. 70 LA A2 LT 2894 = 1.00 x 107 mol/L DEHDOBENE A 5332.9 % TH D05,

A= —l09100.329 = 0.483
X o T, BIVENBEIT 4.83 x 103 mol 'L cm ™!
2. A= —10g100.688 = 0.162 ¥ 72 5 DT,

B 0.162
 4.83times103[mol 'Lem 1 x 2[em]

= 1.68 x 10™° mol/L

(13) —logioT = eCl IZRAT 5.
—10g100.1 = 1.00 x 10* x C' x 1.00 2*5 € = 1.00 x 10~ mol/L

(14)
PR <107 [mol/L] | 0.0 | 0.2 | 0.4 | 0.6 | 0.8 | 1.0
PR S 1.00 | 0.66 | 0.44 | 0.29 | 0.19 | 0.13
S E 0.00 | 0.18 | 0.36 | 0.54 | 0.72 | 0.90
(15)

A=eslA] +ep[B] LT

0.783 = 5.96 x 103[A] + 2.43 x 10®[B]

0.495 = 4.50 x 102[A] + 8.62 x 10®[B]

ZoEN R EMS LT, A 111 x 10" mol/L, B---5.17 x 107° mol/L 2/35%.

(16)

1. RS

— L EFERET No2-1/2 —



Ni ¥ times107° [mol/L] || 0.0 | 0.5 | 1.0 | 1.5 | 2.0 | 25

B KR DR E 0.0 | 0.11 | 0.222 | 0.329 | 0.441 | 0.548
RHEGEEI DI - 10.3310.343 | 0.334 | 0.338 | 0.337

2. PAR & Ni(PAR)y 22\ T
2iRE  Cpar = [PAR]+2[Ni(PAR),]
S

A = epar[PAR] + exipar), = €PARCPAR + (eni(paR), — 2¢paRr)[Ni(PAR),]

epARCPAR 17 T v 7RI DR E R D TIhEHEEL LT,
A = (eni(PAR), — 2¢paR)[Ni(PAR),] £ 72 5.
cm

EHED S l‘é?ﬁ:ﬁi&b\ 22 x 100 Ll v s,

c}: S REN ENi(PAR,)Q =26 X 104 [L 1 ]

mol cm

(17]

1. A:0.1588 x 0.00705 x 1000/250 x 103 = 4.48ppm
B :0.2131 x 0.00705 x 1000/250 x 10° = 6.01ppm
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